8 7 6 5 4 3 2 1

LTR REVISION DATE APPROVED
A | Initial Checkin 10/26/15 ADK

Q NOTES D

1. MANUFACTURE PER MICROSCAN WORKMANSHIP MANUAL, 04-
000010-01, AND MICROSCAN SUPPLY CHAIN REGULATED
SUBSTANCES SPECIFICATIONS, 04-92000018-01. REFERENCED
DOCUMENTS CAN BE FOUND IN THE QUALITY SECTION OF THE
SUPPLIER GUIDE ON MICROSCAN.COM

A

PLACE SCREWS AND WASHERS IN POLY BAG, (ITEM 10).

PLACE ALL ITEMS IN BUBBLE BAG, ITEM (ITEM 11). PRINT LABEL (ITEM
12) USING TEMPLATE STK-PKG-AUTO.BTW AND APPLY THE LABEL TO
THE BUBBLE BAG. SEE BELOW.

w

TS

&

XXXXXXXX-XX B
AR Y

DESCRIPTION TEXT
23-0Oct-13 REV. X XX | PKG B

DRAWN BY

akammers 10/26/15
CHECKED ®
DIMENSIONS AND TOLERANCES

ARE IN MILLIMETERS. DOC CTRL

DIMENSIONS PER ANSI Y14.5. ENGR TQLlE-l-, MO U NTl N G STAN D, A

UNLESS OTHERWISE SPECIFIED

MS-3, MS-4, MINI
XX= +.13 ’ ’ ’
MFG 1
MICROHAWK, 3
THIS DRAWING AND INFORMATION CONTAINED THERIN ARE THE PROPERTY OF MICROSCAN SYSTEMS, INC. PURCH !
RECIPIENT AGREES NOT TO: (1)USE SUCH INFORMATION FOR PURPOSES OTHER THAN THOSE EXPRESSLY SIZE DWG. NO. REV
AUTHORIZED BY MICROSCAN SYSTEMS, INC. (2) FURNISH SUCH INFORMATION TO ANY OTHER PERSON IN WHOLE ac
OR IN PART FOR ANY PURPOSE WHATSOEVER WITHOUT THE EXPRESS AUTHORIZATION OF MICROSCAN SYSTEMS, -
INC. (3) NOT TO REPRODUCE OR COPY THIS DRAWING EITHER IN WHOLE OR IN PART WITHOUT THE PRIOR - -
EXPRESS WRITTEN PERMISSION OF MICROSCAN SYSTEMS, INC. AND TO PROMPTLY RETURN THE DRAWING TO SECTION VIEWS PER ANS| Y143, MG
MICROSCAN SYSTEMS, INC. UPON RECEIPT OF A REQUEST THEREFORE.
COPYRIGHT © 2015 MICROSCAN SYSTEMS, INC. DO NOT SCALE DRAWING ~ */'“* SCALE: 1:1 | SolidWorks 2013 SHEET 1 OF 7

8 7 6 5 4 3 2 1



@ 3.4 (10X)

2.4 (2X 0 o o
o~ (P2 S @S S D.E
(@] < N~ ™ o < <t
C 325 K/j'_-_—_—_—_ _—'—;\\ N C
H Ml
B in :,
43— i
22.8 N N
B \i | | _—8
163 —— (P N
98 S N
83 — | :
55 T 2l
|1 Y,
C 0 (S R
D, E A D, E

UNLESS OTHERWISE SPECIFIED PRAVNBY DATE M I C ROS CA N
i DIMENSIONS AND TOLERANCES |FCN/ECN NUMBER
MOU nTlng Key ARE IN MILLIMETERS. ®

Type Product Supported DIMENSIONS PER ANSI Y145, MAKEFROM TlTLE:MOU nTing STO nd

A Microhawk 20 PR RAM, MS 3, MS-4

B Microhawk 30 e ’ ’ ’
PROPRIETARY NOTICE : ANGLE =21 M 1 M h |< n

C Microhawk 40 SECTION VIEWS PER ANSI Y14.3. |n | ’ |CrO GW ’

RECIPIENT AGREES NOT TO (11USE SUCH INFORMATION FOR PURPOSES OTHER THAR THOBE EXPRESSLY D MS3 FINISH

: M Al

AUTHORIZED BY MICROSCAN SYSTEMS, INC. [2) FURNISH SUCH INFORMATION TO ANY OTHER PERSON IN WHOLE THRD ANGLE PROJECTION SIZE DWG. NO. REV

OR IN PART FOR ANY PURPOSE WHATSOEVER WITHOUT THE EXPRESS AUTHORIZATION OF MICROSCAN SYSTEMS, E MS4/Mini

INC. (3 NOT TO REPRODUCE OR COPY THIS DRAWING EITHER IN WHOLE OR IN PART WITHOUT THE PRIOR Nl

EXPRESS WRITTEN PERMISSION OF MICROSCAN SYSTEMS, INC. AND TO PROMPTLY RETURN THE DRAWING TO

MICROSCAN SYSTEMS, INC. UPON RECEIPT OF A REQUEST THEREFORE.

COPYRIGHT® 2015 MICROSCAN SYSTEMS, INC. DO NOT SCALE DRAWING SCALE: 2:1 SolidWorks 2013 SHEET 2 OF 7

8 7 6 5 4 3 2 1



Holes utililized in this assembly:

O
| O mMi14 I

PROPRIETARY NOTICE

THIS DRAWING AND INFORMATION CONTAINED THERIN ARE THE PROPERTY OF MICROSCAN SYSTEMS, INC.
RECIPIENT AGREES NOT TO: (1)USE SUCH INFORMATION FOR PURPOSES OTHER THAN THOSE EXPRESSLY
AUTHORIZED BY MICROSCAN SYSTEMS, INC. (2) FURNISH SUCH INFORMATION TO ANY OTHER PERSON IN WHOLE
OR IN PART FOR ANY PURPOSE WHATSOEVER WITHOUT THE EXPRESS AUTHORIZATION OF MICROSCAN SYSTEMS,
INC. (3) NOT TO REPRODUCE OR COPY THIS DRAWING EITHER IN WHOLE OR IN PART WITHOUT THE PRIOR
EXPRESS WRITTEN PERMISSION OF MICROSCAN SYSTEMS, INC. AND TO PROMPTLY RETURN THE DRAWING TO
MICROSCAN SYSTEMS, INC. UPON RECEIPT OF A REQUEST THEREFORE.

COPYRIGHT®© 2015 MICROSCAN SYSTEMS, INC.
8 7

3 2
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 Microhawk 20 1
2 12-9000214-01 Base Plate, RAM Mount 1
Screw, M2X0.4MM, 10MM,, SS,
3 12-9000215-01 Phillips, Pan Head 2
4 12-9000216-01 Washer, #3, Split Lock, SS 2

UNLESS OTHERWISE SPECIFIED PRAVNBY DATE

DIMENSIONS AND TOLERANCES ~ FCN/ECN NUMBER
ARE IN MILLIMETERS.

DIMENSIONS PER ANSI Y14.5,  MAKEFROM
X=+.95 MATERIAL
XX=+.13
ANGLE = + 1°
SECTION VIEWS PER ANSI Y14.3.
FINISH

THIRD ANGLE PROJECTION

©d

DO NOT SCALE DRAWING

3

MICROSCAN.

TITLE:

Mount Stand Ram,
Microhawk 20

SIZE DWG. NO.

SCALE: 2:1

SolidWorks 2013  SHEET 3 OF 7

1

REV

A



Holes utililized in this assembly:

PROPRIETARY NOTICE

THIS DRAWING AND INFORMATION CONTAINED THERIN ARE THE PROPERTY OF MICROSCAN SYSTEMS, INC.
RECIPIENT AGREES NOT TO: (1)USE SUCH INFORMATION FOR PURPOSES OTHER THAN THOSE EXPRESSLY
AUTHORIZED BY MICROSCAN SYSTEMS, INC. (2) FURNISH SUCH INFORMATION TO ANY OTHER PERSON IN WHOLE
OR IN PART FOR ANY PURPOSE WHATSOEVER WITHOUT THE EXPRESS AUTHORIZATION OF MICROSCAN SYSTEMS,
INC. (3) NOT TO REPRODUCE OR COPY THIS DRAWING EITHER IN WHOLE OR IN PART WITHOUT THE PRIOR
EXPRESS WRITTEN PERMISSION OF MICROSCAN SYSTEMS, INC. AND TO PROMPTLY RETURN THE DRAWING TO
MICROSCAN SYSTEMS, INC. UPON RECEIPT OF A REQUEST THEREFORE.

COPYRIGHT®© 2015 MICROSCAN SYSTEMS, INC.

8 7

3

ITEM NO. PART NUMBER DESCRIPTION QTY.
] Microhawk 30 1
2 12-9000214-01 Base Plate, RAM Mount 1
3 12-9000191-01 Screw, M3XTOMM, PH, Phil, SS, BIN 2
4 12-000190-01 Washer, M3, Split, SS 2

UNLESS OTHERWISE SPECIFIED “~AYYN B DATE

DIMENSIONS AND TOLERANCES ~ FCN/ECN NUMBER
ARE IN MILLIMETERS.

DIMENSIONS PER ANSI Y14.5.  MAKEFROM

X=+.25 MATERIAL
XX=+.13

ANGLE = * 1°
SECTION VIEWS PER ANS| Y14.3.

THIRD ANGLE PROJECTION FINISH

©d

DO NOT SCALE DRAWING

3

MICROSCAN.

TITLE:

Mount Stand Ram,

Microhawk 30

SIZE DWG. NO.

SCALE: 2:1

SolidWorks 2013 SHEET 4 OF 7

1

REV

A



Holes utililized in this assembly:

r 30

O O
O 0
=
o)
Og ©

| O M4 @)

)

PROPRIETARY NOTICE

THIS DRAWING AND INFORMATION CONTAINED THERIN ARE THE PROPERTY OF MICROSCAN SYSTEMS, INC.
RECIPIENT AGREES NOT TO: (1)USE SUCH INFORMATION FOR PURPOSES OTHER THAN THOSE EXPRESSLY
AUTHORIZED BY MICROSCAN SYSTEMS, INC. (2) FURNISH SUCH INFORMATION TO ANY OTHER PERSON IN WHOLE
OR IN PART FOR ANY PURPOSE WHATSOEVER WITHOUT THE EXPRESS AUTHORIZATION OF MICROSCAN SYSTEMS,
INC. (3) NOT TO REPRODUCE OR COPY THIS DRAWING EITHER IN WHOLE OR IN PART WITHOUT THE PRIOR
EXPRESS WRITTEN PERMISSION OF MICROSCAN SYSTEMS, INC. AND TO PROMPTLY RETURN THE DRAWING TO
MICROSCAN SYSTEMS, INC. UPON RECEIPT OF A REQUEST THEREFORE.

COPYRIGHT®© 2015 MICROSCAN SYSTEMS, INC.

8 7

3 2

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 12-9000214-01 Base Plate, RAM Mount 1
2 Microhawk 40 1
3 12-000190-01 Washer, M3, Split, SS 4
4 12-000191-01 Screw, M3X10MM, PH, Phil, SS, BIN

UNLESS OTHERWISE SPECIFIED “~AYYN B DATE

DIMENSIONS AND TOLERANCES ~ FCN/ECN NUMBER
ARE IN MILLIMETERS.

DIMENSIONS PER ANSI Y14.5.  MAKEFROM

X=+.25 MATERIAL
XX=+.13
ANGLE = + 1°

SECTION VIEWS PER ANS| Y14.3.

THIRD ANGLE PROJECTION FINISH

©d

DO NOT SCALE DRAWING

3

MICROSCAN.

TITLE:

Mount Stand Ram,
Microhawk 40

SIZE DWG. NO. REV

SCALE: 2:1  SolidWorks 2013  SHEET 5 OF 7

1

A



Holes utililized in this assembly:

s )
o -0
O O
Q © 0
O M4 @) )

PROPRIETARY NOTICE

THIS DRAWING AND INFORMATION CONTAINED THERIN ARE THE PROPERTY OF MICROSCAN SYSTEMS, INC.
RECIPIENT AGREES NOT TO: (1)USE SUCH INFORMATION FOR PURPOSES OTHER THAN THOSE EXPRESSLY
AUTHORIZED BY MICROSCAN SYSTEMS, INC. (2) FURNISH SUCH INFORMATION TO ANY OTHER PERSON IN WHOLE
OR IN PART FOR ANY PURPOSE WHATSOEVER WITHOUT THE EXPRESS AUTHORIZATION OF MICROSCAN SYSTEMS,
INC. (3) NOT TO REPRODUCE OR COPY THIS DRAWING EITHER IN WHOLE OR IN PART WITHOUT THE PRIOR
EXPRESS WRITTEN PERMISSION OF MICROSCAN SYSTEMS, INC. AND TO PROMPTLY RETURN THE DRAWING TO
MICROSCAN SYSTEMS, INC. UPON RECEIPT OF A REQUEST THEREFORE.

COPYRIGHT®© 2015 MICROSCAN SYSTEMS, INC.

8 7

3 1
ITEM NO. PART NUMBER DESCRIPTION QTY.
] 12-9000214-01 Base Plate, RAM Mount 1
2 1
3 12-000191-01 Screw, M3XTOMM, PH, Phil, SS, BIN 2
4 12-000190-01 Washer, M3, Split, SS 2 b

UNLESS OTHERWISE SPECIFIED “~AYYN B DATE

DIMENSIONS AND TOLERANCES ~ FCN/ECN NUMBER
ARE IN MILLIMETERS.

DIMENSIONS PER ANSI Y14.5.  MAKEFROM

X=+.25 MATERIAL
XX=+.13
ANGLE = + 1°

SECTION VIEWS PER ANS| Y14.3.

THIRD ANGLE PROJECTION FINISH

©d

DO NOT SCALE DRAWING

3

MICROSCAN.

Mounting Stand  »

RAM, MS3

SIZE DWG. NO. REV

B

SolidWorks 2013 | SHEET 6 OF 7
1



8 7 6 5 4 3 2 1

O

ITEM NO. PART NUMBER DESCRIPTION QTY.
Holes utililized in this assembly:
1 12-9000214-01 Base Plate, RAM Mount 1
_ - 2 VMini MS4/Mini
| O O~ 3 12-000190-01 Washer, M3, Split, SS 2
Oy o O
4 12-000191-01 Screw, M3X10MM, PH, Phil, SS, BIN 2
O O
OO

O
| O mMna

O AL
N T/
DRAWN BY DATE

UNLESS OTHERWISE SPECIFIED

DIMENSIONS AND TOLERANCES  FCN/ECN NUMBER ®

ARE IN MILLIMETERS. TTLE

DIMENSIONS PER ANSI Y14.5,  MAKEFROM : .

Mounting Stand
XX = + A3 . 3
ANGLE = + 1° RAM, MS4/MIHI
PROPRIETARY NOTICE

SECTION VIEWS PER ANSI Y14.3.
THIS DRAWING AND INFORMATION CONTAINED THERIN ARE THE PROPERTY OF MICROSCAN SYSTEMS, INC.
RECIPIENT AGREES NOT TO: (1)USE SUCH INFORMATION FOR PURPOSES OTHER THAN THOSE EXPRESSLY THIRD ANGLE PROJECTION FINISH SIZE DWG. NO. REV
AUTHORIZED BY MICROSCAN SYSTEMS, INC. [2) FURNISH SUCH INFORMATION TO ANY OTHER PERSON IN WHOLE
OR IN PART FOR ANY PURPOSE WHATSOEVER WITHOUT THE EXPRESS AUTHORIZATION OF MICROSCAN SYSTEMS,
INC. (3] NOT TO REPRODUCE OR COPY THIS DRAWING EITHER IN WHOLE OR IN PART WITHOUT THE PRIOR
EXPRESS WRITTEN PERMISSION OF MICROSCAN SYSTEMS, INC. AND TO PROMPTLY RETURN THE DRAWING TO
MICROSCAN SYSTEMS, INC. UPON RECEIPT OF A REQUEST THEREFORE.
COPYRIGHT® 2015 MICROSCAN SYSTEMS, INC. DO NOT SCALE DRAWING SCALE: 2:1 SolidWorks 2013 SHEET 7 OF 7

8 7 6 5 4 3 2 1



	Kit
	Drawing View32

	Dimensions
	Drawing View10
	Drawing View11
	Drawing View12

	Microhawk 20
	Drawing View15
	Drawing View24

	Microhawk 30
	Drawing View18
	Drawing View23

	Microhawk 40
	Drawing View19
	Drawing View22

	MS3
	Drawing View30
	Drawing View31

	MS4/Mini
	Drawing View27
	Drawing View28


